(0 @) (rad)

-

H + H +
P < i R N 1 S I
. T
+1 : B
. . |4

107 1

3

2
TPlpoT (PCA t%obeamlinélf)

a(d cot(d))

Ratio

=
<

—=— DQM_CKF_QCDHighPt_base
—— DQM_CKF_QCDHighPt_retrain

SICEWATL

107

1072

] 4
HEES
- AR eANS

2 > 3
TPlp?T (PCA tjbobeamliné'f)

o p/p.)

,_.
<
L

1072

8
T 12 ----mmmmis
o [

| R REERREEEEE & .8

2 [ H E ol 2 70 e 1 O
-
..... Lk £ ) R
4+ - -
= 2643 5 BN Rl

oo a,) (cm)

z

SRR A R R
R S A A REREEEER
2
. 3
H * + -
- -
LR 1. |4~ B R E R
: <+ .
L .
-+ .
10—2 Ll s dl 1 cah ] 1 L
Lo 3 N M -
F | T yy
Eeeeeeenens 3 N [ R A 4.
&3 | L1114 T
E by +l 1 E
09_...........: - | |- B e 3 -l
~E 3 L ad -+ M
E § + :
08F-----------¢ - I S e | F B 1
.8F E i LS

1

2 3
TPlp?T (PCA tjbobeamliné'f)



	Contents
	Page 1


